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Instructions for the candidate:
1 oosRl qur @ st vl 4 & IR T
Candidates are required to give their answers in their own words as far as
practicable.
2 R sk @i W RE go S gie FAlke &vd &/
Figures in the right hand margin indicate full marks.
3 o sfad &
All questions are compulsory.
« T 23 T ol wuree ae-dE a1 T 7
While answering, the candidate should adhere to the word limit as far as
practicable.

5 39 0¥ T @ g3 @ 32 15 Rae a1 sRiEr wwg Rar 1ar 8

15 Minutes of extra time has been allotted for the candidates to read the questions.
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ufl gm g -
Choose the correct option-

o R TR 42 320 3 g g i

| er- (1)
o -2 (@) 2
|
W 3 @ -
9
The sum of roaty of the quadratic cquation x* + 2x — 3 = 0 will be.
W = ®) 2
1 i
“© 3 ) - %
2RI PX)=x 4 Tx+ 10 7w o, B O A @ P A B- )
G-10 @ 10
! 7
® % SIS
If o, B are the zeros of the quadratic polynomial p (x) = x*+ 7x + 10, then the value
of a,p will be-
(@) 10 (b) .10
o "1
(c) 0 d) 10
3. WP IR W R w9 N T | A9 W H A FEAdT- (1)
& ma (@)
(1 s () Fo

Putting- the value of variables in ascending or descending order, the value of middie
variable will be called-bsebresuitin
(@) Mean (b) Median

(c) Mode (d) None of these
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(1)

« 5 w womb-
m) ot (@) amfti
(n) qotw (@) s
J5 is a number-
(a) Rational number (b) Irrational number
(c) Integer (d) Natural number
s. R (4 -5) A R AR R A Bl , (1)
@ Y4 @ 3
m -3 Y
Distance from the origin of the point (4, -5) will be-
(@) VAl (b)3
© -3 d) -Va1
6. wew g A g W Wi 7 ol Yt A Trd orf- (1)
(®) s (=
M 3T (@) amn

The length of Tangents on a circle from any external point will be-

(a) Unequal (b) Equal
(c) Double (d) Half
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- 1 ST B
7 qmr::gﬂm::cm,mma&ﬁaﬂecmslﬁ (1)

(%) 288x (@) 188x

() 100x (@) 90x

. -olume of cone will he.
The height of cone is 24 cm. radius of base is 6 M- Then v be

(a) 288x (b) 1887
() 100w (d) 0=
8 Pffaa wea ) witwar - (1)
@) 1 @ 2
) o ® 3
The probability of certain event will be-
(@ | (b)2
() 0 (d) %
9. 1+cot’8 I W M- 1)
(@) sec’® _{8) cosec’®
(m) tan’® @ cot’d
The value of 1 + cot’d will be-
(@) sec’d | (b) cosec’d
(c) tan’ (d) cot’®
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The value of cos 2 will be-

@ 3 ® -:l:;
() 13- @ 3
e s AT

RIS ciceiniennnenninsanne NUNET

"ie % - X)) T )

«h%% - RROOR— polynomial.
wiye & I g &y

The angle of semi circleis...........ccccueuee.

WIITAMMRIMTWMIR AT __wwwm k)

The perpendicular on the chord from the centre of any circle is ......

(1

(1)

()

(1)
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19

: w1 fydeia e
g (xp, ¥ MR (g, ya) 3 RETY @ ma g o1 Paa
The co - ondinates of middle point of line joining points (%

RRab R bp3mH@ed.

The distance between (a, b) and (-a. -b) will Be....vcveerss
C2sinA= 3 A wam R -

If 2sin A = \3then the value of A will be......ce....

Eﬁcus:\z-‘gﬂ’fun:\mm .............. g |

-

4
Ifcos A = : then the value of tan A will be ...ocviveatbzneeee

AR WM - @ wwnk o ToEwe = H.CF. x LCM.

True or False - The product of two numbers is cqual to H.C.F. x L.C. M,

YR IR AR A P *Ed B
The class which has maximum frequencies is called................

4 e agTe 2x° - 8x + 6 @ A F1 A @ TOEIEH 7R B

21,

Find the sum and product of zeroes of quadratic polynomial 2x* - 8x + 6
feam e B 7@t @ awafe @ e B @ Rie il B Rl
Find the conditions of roots of quadratic equation to be real and equal.
bsebresult.in g

Wmﬁaaaﬁmﬁﬁi'som.awa}mmmm

The parameter of an equilateral triangle is 30 cm. Find its areq,

y;_} and (v,

s

@)

(2)

[202] - R


https://bsebresult.in/bihar-board-class-10-question-paper-2017/

M

2%

e

i A OP 71 a1 o g ¥ et Y PA = 12em W OA = Scem i G)

O

A

In figure. find the value of OP_ tf Tangemt PA = 12cmand OA = S ¢m.

Rl A (5.2), B (4.7) M7 4) # @A WAL ABC ¥ 075 g w2 @
Find the arca of A ABC whose vertices are A (S, 21 B (4. Tyand 7 4

op qn A oftR) as AR B e e W ¥ &)
Find the area of circle whose ¢ircumf epence i B8 em

A Wil BOmA A vaw w0 wsre om0 P WM Tast 9 oo g wI e
omen &) wemy ot AT g w1ty )
Two cubes each of volume 64 ¢m’ are joint end 10 end. Find the wrface area of the
resulting cuboid

u fepa o1 dcx g @ g M4 O -8) (-7, ¢) ma (10, -2) 7 @)

Find the centrond of a inangle whose vertices are (3, <30, (-7, 4) and (10, -2).

f/ufhim;\mmﬁuh!hzﬂr- A+Bar )

Iftan A =cot A thenprove that - A +B = 90*

}/ou' m‘f‘mqfﬁdm Nqwn v el @)

Find the trigonometric ratios of 60°
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AP.2.8 12,18 ... mwmEamag s {2

J
Which termof an A.P. 3,8, 13, 18 is 787
u/mmﬁ%\fiwﬁﬁumh )
s
Prove that V3 is an irrational number.
y""“mﬂmmfﬁfﬁﬂusﬁumw&!.C.F.mL.C.M.mﬁi )
Find the H.C.F. and L.C.M. of 96 and 404 by the prime factorisation method.
B B-xsxe s d e B @
Solve: 13 - x* = (x + 5)?
35. % GO o ) Jud smaw A 7 9 7w &) ol F9% 93 WA I A @
ot B AF T Y : (3
The height of a right angle triangle is:7 cm less than its base, If hypotenuse is 13 cm
then find the valueof remaing two sides.
3. WWIE A ABC 3 1T Fon a yor§ ¢ o Rz ot & B w1 i o ij—a
g | ()
Each side of an equilateral triangle ABC is a units..Prove that the altitude of the
triangle will be %n.
‘nﬁ(aililﬁmﬂﬁﬁ‘ﬂuﬁﬁﬁA(ZBJ.BH.KNﬂ?C(G.J)mtl (3)
I points A (2, 3), B (4, K) and C (6, -3) are collinear, then find the valué of K.
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3. We‘aﬂ:aramsmmﬂaglwagqﬂmqgmmﬁmmm

I Wit wm & ¥ e () S B () I8 T8

()

A bag contains 3 red balls and 5 black balls. One ball is drawn at random. Find the

probability (i) ball is red (ii) ball is not red.

y/uf«’: tan (A + B) = Jj MR tn(A-B)= %

0< A + B <90° A>B.
@AM B oA T A (3)
|
If tan (A +B) = Y3anduan(A-B)= —
J3
0<A+B<9%° A>B
then find the value of A and B.
P - f I +sin A
. 40 = tan A 3
_40 fre e sec A + tan (3)
Prove that I+s-mA =sccA+tan A
l-sinA
yﬁﬁmmmmﬂmmﬁl (3)
TN SAIRTA | 10-25 | 25-40 | 40-55 | 55-70 | 70-85 |B85—100
TR 2 3 7 6 6 8
Find the mean of following frequency distribution:
c.1 1025 | 25-40 | 40-55 | 55~70 | 70—85 |85-100
frequency 2 |13 7 6 8 8
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¥

TF SOTE | 25-30 | 30-38 | 3540 | 40-45 | 45-50 | 50-55 |
I

S—

i |
AT |28 3 50 42 38 14

e

Calculate the mode for following frequency distribution:

[€...] '25—30 30-35 | 35-40 | 40—45 | 45-50 | 50-55
| z
| frequency 'l 25 M 50 42 38 14
I !
| |

@/ w fadm 3s 3 Bow od v 3 deR & A SH B d s

sarita &1 @ fad & el Surg 155 Wi 2w RdR 1wt g dEwa

ammﬁmlm? (5)

A toy is in the form of a cone mounted on a hemisphere of radius 3.5 cm. The total

height of the toy is 15.5 cm. Find the total surface arca and volume of the toy. xt= 272-

g"mﬁmﬁﬁﬁmﬁ- | )

X+ y=6TU4x -2y =4
Solve by graphical method:

2x+y=6and4x -2y =4
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e 1 w=ra v 00° &) ot Wome o) v so. & eh v o) Sorf Pyl (3)
The angle of elevation of the top of building from the foot of a tower is 30° and the

angle of elevation of the top of the tower from the foot of the building is 60°. If the

tower is 50 metre high, find the height of the building.
e
& we S @@ AR ) or oa Rufd 4 40 A T s B Gnf 8 e
T T IR BT 60° W weaR 30° B wmn &1 AR W Fund wmr B
The shadow of a tower standing on a level ground is found 40 be 40m. longer when

the sun’s altitude is 30° than when it is 60°. Findithe height of theutower.

. fog ¥ 5 2 wree Polt 3 dawdl wiagm o W gt @ it @ e A
g & )
Prove that the ratio of the areas of two similar triangular is cqual to be square of the
ratio of their corresponding sigies:';-

3gar
ot e o A o o W ot oy @ Yol @ ol @ O 3 wWR § @ o
TR H [ P TR Eew ) |
In a triangle, if squarc of one side is cqual to the sum of the square of the other two
sides, than the angle opposite the first side is right angle.
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& 3 A Prom ® @ go A o gu R g e R @ o ow g @ A 60° NV’
wror ot & (s)
Draw a circle of radius 3 cm. Draw a pair of tangents to the circle, which are inclined
to each other at an angle of 60°

HqqT

5 M, 6 AM aﬂ??ﬂﬁl.ganﬁméwmﬁﬁmﬂﬁﬂaﬂ?qmmmﬂ%u
. 3 W
Prp @ e 2R e o R EY Pois @) wr ot @ 2 T 8
Construct a triangle whos€ sides are’§ cm.. 6 cm and 7 cm. construct a similar triangle

such that cach of its side is -5_’; of the corresponding sides of the triangle.

fdgre <A gdfda @af e,
BT TG, W%a U, , TEfAe
o1e, e ersr &1, udten fafaai,
3nfaeilRe Traeae f3E saafe aad
Uge Ut & fRT...
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